
ANSWER KEY 
 
Complete the following table. Put a check mark (✓) under the column if the 
number in the second leftmost column (the dividend) is divisible by the 
number at the top of that column (the divisor). 
 

Item Dividend 2 3 4 5 6 7 8 9 10 11 12 

1 60 ✓ ✓ ✓ ✓ ✓    ✓  ✓ 

2 216 ✓ ✓ ✓  ✓  ✓ ✓   ✓ 

3 96 ✓ ✓ ✓  ✓  ✓    ✓ 

4 2320 ✓  ✓ ✓   ✓  ✓   

5 658 ✓     ✓      

6 286 ✓         ✓  

7 405  ✓  ✓    ✓    

8 704 ✓  ✓    ✓   ✓  

9 1540 ✓  ✓ ✓  ✓   ✓ ✓  

10 1344 ✓ ✓ ✓  ✓ ✓ ✓    ✓ 

 


